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Choose whether or not each phrasal verb is separable or not separable (in the context of 

each sentence). If both responses are acceptable, choose "BOTH ARE CORRECT": 

 

 

1. Which is correct? 

  a) The effects wore off in three hours.     b) BOTH ARE CORRECT     c) The effects wore in 

three hours off. 

 

2. Which is correct? 

  a) Don't pass up that opportunity!     b) BOTH ARE CORRECT     c) Don't pass that 

opportunity up! 

 

3. Which is correct? 

  a) BOTH ARE CORRECT     b) You have to pay back me tomorrow.     c) You have to pay 

me back tomorrow. 

 

4. Which is correct? 

  a) BOTH ARE CORRECT     b) Did you pay back the money?     c) Did you pay the money 

back? 

 

5. Which is correct? 

  a) I can't figure out this.     b) BOTH ARE CORRECT     c) I can't figure this out. 

 

6. Which is correct? 

  a) I can't figure out this question.     b) BOTH ARE CORRECT     c) I can't figure this 

question out. 

 

7. Which is correct? 

  a) We get along very well.     b) BOTH ARE CORRECT     c) We get very well along. 

 

8. Which is correct? 

  a) Did you find where she is out?     b) Did you find out where she is?     c) BOTH ARE 

CORRECT 

 

9. Which is correct? 

  a) She gave away all her books.     b) BOTH ARE CORRECT     c) She gave all her books 

away. 

 

10. Which is correct? 

  a) Take off your jacket.     b) Take your jacket off.     c) BOTH ARE CORRECT 
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ANSWERS:  

1) a    2) b    3) c    4) a    5) c    6) b    7) a    8) b    9) b    10) c  

 


